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ﬁ%ﬂg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREOHBERILHDOKRES
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 477 59.47 | =hst | 0oo ~ 000|175 8.83 ZznLst 1.00 | 5.00 ~ 5.00 59.47 | =S | 5,00 ~ 5.00)|1.75 8.83
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 697 74.80 | =LY | 000 ~ 597 1.89 9.64 znLst 1.00 | 5.00 ~ 7.10 74.80 | =nRS | 6.00 ~ 710|189 9.64
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.04 75.70 | =LY | 000 ~ 0.00)1.73 8.72 znLst 1.00 | 5.00 ~ 6.90 76.70 | ENRSY | 5,00 ~ 6.90 | 1.73 8.72
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 000 ~ 571 71.39 | =S | 000 ~ 6571 1.84 9.29 znLst 1.00 | 5.00 ~ 6.50 71.39 | #nRS | 5,00 ~ 650 | 1.84 9.29
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.53 82.34 | Ths | 000 ~ 653|179 9.03 znLst 1.00 | 6.00 ~ 7.80 82.34 | #nS | 5,00 ~ 7.80)1.79 9.03
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 478 59.51 | =hst | 0oo ~ 000|172 8.71 ZznLst 1.00 | 5.00 ~ 5.00 59.51 | =N | 5,00 ~ 500172 8.71
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
ZhUs ~ ZhLst ~ ZhUs ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
ZhLs ~ ZhnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhUs ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnList ~ Zh s ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
zh st ~ st ~ zh st ~ st ~
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